QLUDIILA:] Spare Parts Exploded drawings 2023-24 MUON-X and MUON-W Page 1

1
1
1
1
1
mﬁsﬁ@a FWDleanSet_________ NS
(= Lean-block + Lever + hardware) :
1
1
1
1

m_A_sy_ru Hadron Hiback Set__________________________]|.
(= Hiback + EVA-pad + FWD-lean assembled)

Axion Toe-ratchet w/ screw N41 L1
R
mﬁz@m CobotSet ____________ s
(= Screw M5*22 + Pivot-Washer + T-nut)

\ Axis-NXS Baseplate-Cushioning set
« (= Heel-EVA + Rocker-EVA) 08-C1




QOIIIIK(I] Spare Parts Exploded drawings 2023-24 KAON-X and KAON-W Page 2

mﬁsﬁ@a FWDdeanSet________ ]
(= Lean-block + Lever + hardware) '

N2-F2 [ e | N 1181
(= Hiback + EVA-pad + FWD-lean assembled) ‘ \ - P
\ ExoFrame strap +
QuickSet latch)

Axion Toe-ratchet w/ screw
N41-L1

mﬁz@m CoboltSet ____________ e .
(= Screw M5*22 + Pivot-Washer + T-nut)




QLUDIILA:] Spare Parts Exploded drawings 2023-24 KAON-PLUS and KAON-W PLUS Page 3

mﬁsﬁ@a FWDdeanSet________ ]
(= Lean-block + Lever + hardware) '

N2 e ‘ B L 11-K1
(= Hiback + EVA-pad + FWD-lean assembled) \ (= ExoKush AnkleStrap +
\ Hybrid Ankle-Spine +

Insert-pods 11-L1 +
QS-latches)

Axion Toe-ratchet w/ screw
N41-L1
R

Axis.N1 C-bolt Set




@ NIDECCER Spa re Parts Exploded drawings 2023-24 KAON-CX Page 4

ExoFrame strap +
QuickSet latches)

: S
. ~ 1__Hybrid ExoFrame Set _m
mﬁ_sy_”l Carbon G6 Hiback Set__ _ _ _ _ _ oo 2 ‘ ] (= HybridSpine +

Axion Toe-ratchet w/ screw
N41-L1
R

Kaon-CX C-bolt Set




@ NIDECCER Spare Parts Exploded drawings 2023-24 PRIME Page 5

mﬁsﬁ@a FWDdeanSet | _______ .|
(= Lean-block + Lever + hardware) '

N2-F2 [ | N 1181
(= Hiback + EVA-pad + FWD-lean assembled) ‘ 4 ~ P
\ ExoFrame strap +
QuickSet latch)

Axion Toe-ratchet w/ screw N41 L1
R
mﬁz@m CobotSet ____________ s
(= Screw M5*22 + Pivot-Washer + T-nut)

Axis-NXS Baseplate-Cushioning set
(= Heel-EVA + Rocker-EVA) 08-C1




QLUDIILA:] Spare Parts Exploded drawings 2023-24 MAGIC (XS and S) Page 6

UniFit Strap-Set
w/ Atom-Ratchets

UniFit Strap configuration for size S

w/ Atom-Ratchet + pin

OneStrap configuration for size XS




QLUIILA:] Spare Parts Exploded drawings 2023-24

SUPERMATIC Page 7

(Pair)

213
<
gg
) X2
D
1=
ST
QO
Tig
@]
S15
=
=12
)
w18
Jlx
(%]
0]
@

_L§B§Dk_'e_-F_’iV_°£-_Lfid9§r_ __________
1 8' F1 (Pair) /

-_Bes_eE@Le_Csxer_VV_aéh_eL _________ I
w/ screws (Pair)
_L§B Toe-ladderw/plug____
18-A1 Jos /
N\

_M_oy nting screwsMe45
42 = G 1 (Pair)
'E’E.i’“i‘_’i“g  Multi-Disk Mounting disk w/ screws M6°14.5) ___ _ ___________
= (Pair)

___________ LSR Ankle-ratchet w/ red prints & screws
(Pain)

L ExoFrame Hybrid-straps
Set w/ QS-latch (Pair)

" QuickSet Pivot Ankle-ladder
St ey 17 -G 1

(Pair)




	Np01_MUON_exploded drawing_2023-24_sm
	Np02_KAON_exploded drawing_2023-24_sm
	Np03_KAON-PLUS_exploded drawing_2023-24_sm
	Np04_KAON-CX_exploded drawing_2023-24_sm
	Np05_PRIME_exploded drawing_2023-24_sm
	Np06_MAGIC_exploded drawing_2023-24_sm
	Np07_SUPERMATIC_exploded drawing_2023-24_sm

